
Bastnäsite [CeF(CO3), G71] Structure:
ABCD3 hP36 190 h g af hi-001
This structure originally had the label ABCD3 hP36 190 h g af hi. Calls to that address will be redirected here.
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Prototype CCeFO3

AFLOW prototype label ABCD3 hP36 190 h g af hi-001

Strukturbericht designation G71

Mineral name bastnäsite

ICSD 72939

Pearson symbol hP36

Space group number 190
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Space group symbol P62c

AFLOW prototype command aflow --proto=ABCD3_hP36_190_h_g_af_hi-001

--params=a, c/a, z2, x3, x4, y4, x5, y5, x6, y6, z6

Other compounds with this structure
LaF(CO3)

• Technically the name bastnäsite belongs to both cerium and lanthanum compounds, and the are usually designated
bastnäsite-(Ce) and bastnäsite-(La), respectively.
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2c ẑ (6g) Ce I

B13 = x4 a1 + y4 a2 + 1
4 a3 = 1

2a (x4 + y4) x̂−
√
3
2 a (x4 − y4) ŷ + 1

4c ẑ (6h) C I

B14 = −y4 a1 + (x4 − y4) a2 + 1
4 a3 = 1

2a (x4 − 2y4) x̂ +
√
3
2 ax4 ŷ + 1
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4c ẑ (6h) C I

B17 = (x4 − y4) a1 − y4 a2 + 3
4 a3 = 1

2a (x4 − 2y4) x̂−
√
3
2 ax4 ŷ + 3
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4c ẑ (6h) O I

2
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c
(
z6 − 1

2

)
ẑ
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